-

N oGO pagedld?,

) A= (x+3)*+2x+y
A(X)= (o.+b\?' +2c Uy avec o.:::.el-bz#
A= 0f v 2ab+b* vy ax +b
AN < | 024 AXXXD [+ A% 2+l
Az xX*+Alux s 4242044
ANz R%*+ AG% + 53

B) BG)= -3 (=<-u)* +44
RGe)=-3 (aa=b)* +44 avec a=x eF b:-L
8Gd=-3 (a¥-2ab +b?) +44
B (x)=-3 (:ez - 2X WX +(+z) +4A
BO)= =3 ( X2-8x +16) +41
B (x)= -2x*¢ Quze- 48 +44
B Gz -3x*+24 % -3%

2) C(x)= (2%e-5) (2x+3) - (32+9)?
cte): (a- ) Ca+b}— (A +B\ avec a=2%x4b
4 2 3 2 Az3x, ‘s
ckd= o -b _{_A -\-QAB-PB;
C ()= (2:;31_52-—%5@;& S + 52)
C ()= 4x*-25 - x* + 302 +25)
c (): 42*-25 - 3n*-30m-25
C (x)= -5 x*-30x-5D-

=
S

d) DX (x-0?% (x+2)
D= (a-b) (2+42) awee Qz=% ek b=1
DG6O= ( o2~ 20b + 62) (=+2)
D (Go)= ( x2-2x2ex) «+ 12) (e+2)
D C&\’ (=2 @)
D)= 2}(‘ 24 - Ux+ X+2 = x> -3+




